Chemistry 115 - 4007					Name 					


Dr. Cary Willard


Quiz 9A (15 points)					November 13, 1995


Must show all work to receive credit.





1. (6 points)Complete the following acid base reaction and identify the conjugate acid base pairs.  (Show which one is acid and which one is base in each pair.) 





	HNO3  +  OH(  ((











2. (1 point) What is the pH of a neutral solution?

















3. (2 points) What is the pH of a solution that has [H3O+] = 3.928 x 10(4?




















4. (2 points) What is the pH of a solution that has a pOH = 4.293?




















5. (2 points) What is the [H3O+] of a solution with pH = 8.37?




















6. (2 points) What is the [OH(] of a solution with [H3O+] = 9.27 x 10(5?�
